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Instructions to Pupils: !

Do not open this booklet until you are told to do so.
Follow all instructions carefully.

This paper consists of 3 parts, Sections A, B.and C.
ANSWER ALL THE QUESTIONS.

Check all answers carefully.
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Maximum Marks Obtained

Section A 10

Section B 12

Section C 8

Total 30

* This paper consists of _6 pages altogether (including cover page ).

This paper is not to be reproduced in part or whole without the permlssmn of the
Principal.




SECTION A —(5 x 2 marks) 7

There are 5 questions in this section. :

Read the questions carefully. Choose the correct answer.
Wiite its number 1, 2, 3 or 4 in the brackets provided.

-'-1) Which one of the following has the smallest value 2 ‘

() 312 S (2) 132
(3) 123 (4) 321

2} In 217, the digit 7 stands for

(1) 7 ones (2) 7 tens
(3) 7 hundreds (4) 70 ones

3) In 156, the digit in the hundreds place is

(1) 1 o @5
3 15 (4) 100

4) What is the missing numiber in the box ?

128 + 54 =
(1) 172 : (2) 182
(3) 272 (4) 282




5) What is the missing number in the box ?

1000 -630 =
(1) 330 | - (2370
(3) 430 (4) 470 ( )

SECTION B — (6 x2 marks )

There are 6 questions in this section.

Read the questions carefully. Write your answer in the space provided.
Please show ALL your workings clearly.

6) Write six hundred and twelve in numerals.

~ 7) The number between 543 and 545 is

8) Arrange these numbers in order beginning with the greatest.

Greatest



9) Complete the number pattern.

0 FF o o2t <o

11) . @
Use the digits above to form the smallest 3-digit number.
(You may use each digit once only.) Wiite your answer in the box.




SECTION C (2 x4 marks )

There are 2 questions in this section.

Read the questions carefully. Show all your working clearly.
Write your number sentence.

12) Peter collects 234 picture cards. Tom collects 77iiore cards than Peter.

a) How many picture cards does Tom have ?
Working

Tom has picture cards.

b) How many picture cards do the two boys have altogether ?

Working

They have picture dards altogether.




13) Mother bought a bag for $75 and a pair of shoes for $125.
a) How much did Mother spend altogether ? Working

Mother spent $ altogether.
"b) If Mother stilt had $255 left in her purse, how much did Mother have at first ?

Working

Mother had $ at first.

~END OF PAPER~
Have you checked your work thoroughly?




EXAM PAPER 2013

SCHOOL : ROSYTH SCHOOL. {(PRIMARY)

SUBJECT: PRIMARY 2 MATHEMATICS

TERM  : CA1 (Topical Test 1)
Section A

QL Q2 | @3 | Q4] Q5

3] 1 1 2 12

Section B

Q6) 612

Q7) 544

Q8) 871, 817, 718, 187, 178
Q9)763, 663, 563, 463, 363
Q10) 336
Q11) 409

Section C
Q12) a) 234 + 77 = 311 picture cards
.. b)311 + 234 = 545 altogether

._ Q13) a) 125 + 75 = $200 aitogether
" D) 200 + 255 = $455 at first
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